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QUESTION 1

How are the logging levels for the Operational Decision Manager (ODM) containers specified?
A. Update the trace level in the Decision Center.

B. Update the ODM Operator, specifying a new configMap.

C. Update the logging properties in the Liberty console.

D. Update the logging element in the WebSphere Liberty server.xml

Correct Answer: B

QUESTION 2

Where is the number of replicas defined for IBM Automation Digital Worker, when high availability is required?
A. In the route definitions of the Digital Worker

B. In the worker node configuration

C. In the secret.yaml file for ADW

D. In the Custom Resource (CR) definition

Correct Answer: D

https://www.ibm.com/support/knowledgecenter/SSYHZ8_20.0.x/com.ibm.dba.managing/op_topics/tsk_adw_prepare_fa
ult_tol.html

QUESTION 3

Which parameter is used to scale Operational Decision Manager deployments?
A. nodecount

B. containercount

C. replicaCount

D. podCount

Correct Answer: C

QUESTION 4

Running the command oc get pods displays the following:
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Which command is used to run a shell inside the pod?
A. oc telnet test-pod

B. oc rsn test-pod

C. oc terminal test-pod

D. oc shell test-pod

Correct Answer: D

QUESTION 5

When configuring the plug-in for external share in Business Automation Navigation in a container environment, what
should be used in the JAR file path field?

A. An environment variable specifying the location of the sharePlugin JAR
B. A relative local directory path to the sharePlugin JAR

C. An absolute local directory path to the sharePlugin JAR

D. A URL that points to the sharePlugin JAR

Correct Answer: A
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